Fractions (25 points)
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1. Change to a mixed number in lowest terms:
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2. Change to an improper fraction in lowest terms: 72 = e
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3. Solve. Be sure to reduce all final answers to lowest terms:
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Ratios, Rate and Proportion {20 points)
4. If it rained on 45 out of 365 days, how many non-rainy days were there?
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5. What is the ratio of rainy days to non-rainy days? Give your answer as:
a. Aratio in the form H5 :320
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6. The ratio of black cars to red cars is 5 to 6. How many red cars are there for every 1,200
black cars? ]\ o W 1 g -
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7. If a secretary can type 4800 words in one hour what is the secretary’s typlng rate in words
per minute (be sure to include the appropr:ate unis in your answer)? : ‘

Decimals (27.5 points)

9. Write the number corresponding to one hundred twenty-three and forty-five thousandths.

10. Round 3.0345 to the nearest thousandih.
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11. Round 1.62_9543 to the nearest thousandth.
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Read carefully: For questions #12-15, answer your choice of (a) or (b) for each question:

12. (a) Add: 0.083 + 5,479 + 1.15 + 547 or (b) Add: (-2.005) + (-0.458) + (-0.1)
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13. (a) Subtract 478 007 - 7,541.3 or (b) Subtract: -9.2 - (-7.1)
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14. (a) Multiply: 0.06 x 0.08 or (b) Divide: 0.416 ~ 100
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15. (a) Simplify: 0.1355 + 1.33(0.6 + 0.05) or (b) Simplify: 20 - 163.8 = 10.5
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16. Convert to a fraction: (Make sure your final answer is a fraction in lowest terms.)
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17. Convert to a decimal:




Percents (32.5 points)

18. Convert to a fraction: (Make sure your final answer is a fraction in lowest terms.)

a. 33% = 33 ot 3% = O3 = 33
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19. Convert to a percent:
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20, Convert to a decimal:
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21. What is 9% of 967

22. A store offers 10% off its merchandise.

a. What is the discount on a $1,049 pair of earring?
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b. What is the sale price?




